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1. Attempt all the parts : i) 2 iv) 1 ,
a Suppose that the  function A
) PP €)  Ifvectors 5 1'-;;_:}+ ok and

f: R — R is defined by f{x}=x2.

A A A
Then fis 3;;30“; ;:’_ktgrc Perpendicular to
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iv) neither one-one nor onto. 1 NAESA
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Attempt all the parts :
a) Find the principal value of

-1 . T
— . 1
sin (SlI’l 2 J

b) Function f: R — R is such that
f(x)=x?+2, then find f‘1(18). 1
c) If A and B are two events such
that P(A)=0-4, P(B)=0-8 and
P(B/A)=0-6, then find P(AuUB).
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Find the differential equation |

related tq equation ys=
\ghere A, B are constants.
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Atternpt all the parts :

1.’1+x2+1

(R then find
a) Ify SCC.'t [ X ]’

dy 9
the value of dr X K
] between the vec
b)  Find the angle be W en the 2
2?-j+2k and 3i+3}+4ﬁ.;,
) Under the following restriction
‘ x + y 5 8 SQ\Q
3x+5y =15 (&\%5
>0,yz
ffnd th Q(\&minimum value 021'
Z=X @ :

d)  Find the value of p if the lines
1-x_Ty-149 z-3 and

3 2p 2
T-Tx _Y=5_6-2 4 mutually
3p 1 5 )
perpendicular to each other.
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Attempt all the parts :
a) In a class 40%
mathematics, 20%

and 10% read both mathematicg

and  biology. Ope student g

selected at random. Find the

Probability that

)  he reads mathem
it is know
biology

) he reads biology whep it s
known that he
mathematicg

4.

students reaq
read biology

atics, when

reads
1+1
Find the valye of IM

SIn(x +q)

i dx,

where q ig constant. 2
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¢) Find the area of that parallelogram

. - A AA
whose diagonals are d=3i+2j-k

- A A A
andd2=l—3j+2k. 2
d4) Verify Rolle's theorem for the
function  f(x)=cos2x in the

interval [O"] 2
cfofad § ﬁﬁ#rga Quel. @
Y : g\@

#) A cos™ e\\g‘b OS_IE 0,7 fog
$2 2xy y
- N
a ab b
5
@ g i

a+b b ¢

b+c ¢ al=3abc-a’-b®-c>.

c+a a b]

5

I Jeot x AL g S >

1+ Ts:c:-t:'l

% aﬂﬁﬁﬁaﬁraﬁ”y:xs 3
xy=k TF TR F T T & @

3k=1. >

324(XA) 10

) s ro=( i+2;+£]+?(?~}+ﬂ]
C'Sfrt—}
?‘-[21—_} k]+u[21+1+2k]
}?WWW T i |
0 Sy
3y
XY XCos [ )WW |3QI

9

S. 5

Attempt any five parts of the following :

al  If cos !X 1Y
a) 5t cos 3, =9, then prove

2
X 2 2
that 5 - axg cosf + ———y2 =sin2g S
N )

}?ﬁ E’rove that
a+b b ¢
b+c ¢ ¢

=3abc -q® - p3 _ 3
c+a a b P <

,-rJ."‘)

¢} Prove that Ih————-—-_.__mdx=£ :
o 1+4cotx 4"

d) I curve y=x> and Xy==k cu

each other per
pendicular)
prove that 3k =1 o the
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Find the shortest distance between
the linés

A A ACA A '
¥ =(i+2j+k)+A(i- j+k) and
- AHON AA A
r=(2i=J-k)+u(2i+j+2k). 5
)  Solve the differential equation

x%:y—xcosz(%} 5]
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M T X2 +y? =4 F T T Ry
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6. Attempt any five parts of the f

ollowing ;
a)  Show that the function ¥

f(xl=lx—2\={ X=2, x22

—{x-2),x<?2

a'F xX=721is continuous but not
dlfferentiable.
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solve tIflE following linear
bl rogramming problem by graphical

Tethod, under the following
raiﬂtS:

x20,y20

Find the minimu@%d maximum
values of Z = Sx(gi y. 5
Find the ar%&closed in the first

quadran @&é\\t_‘.lrcle X<y yg =4 and
straight Iine y = x and axisof x. 5

In a bag there are S red, 4 black
and 3 whiteballs. If one by one
three balls‘are taken out and not
again returned to the bag, then
find the probability that all the
three balls drawn are red. S

e¢) Find the perpendicular unit vector
— fal A N

on the vectors a=2i-j+k and

d)

Fal A

- A
b=3i+4;-k and find the sine of

the angle between them. 5

f)  Solve the equation

-1 X X - -1
secl——sec ‘—"3=sec1b—sec a.
a b

S
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7. Freretian @ fo o wve A e PO
F)  Fefetes e e
' 3x-2y+3z=8
2x+y_z=1
4x-3y+2z=4. :
I g fafy @ e A 8
@ §) gl owg (2, 6), (5 4) K
| [k,4)aﬁﬁﬂﬂméﬂa
35 &t T @ @ k W HH A
AT | 3
i) G g =iea)+2k,
b=3i-2j+7k ¥%
¢ =27-+ak, d T Hew
34 3 s < aREt a H@X b

N
S A, HX c.d =15 I
5

7.  Attempt any one part of the following :
a) Solve the following system of
equations by matrix method :

3x-2y+3z=8
2x+y—z;l
4x-3y+2z=4. 8

b) i) If area of the triangle, whose
vertices are ( 2, -6), ( 5, 4) and
( k, 4) is 35 square unit, then
find the value of k. 3
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324(X-A) miﬂimum value of

.. f"'_"‘ 45 inh b) 1 Find the .
i) If a _,: +4j+2k, the function X - ¢ 52 playin4
b=3i-2] 7k i) From a pack © 8
J+7k and drawn one by
5> A A A cards, two arc they are
c=2i~j+4k, thenfinda - one. After drawing h
- not returned to ! Cf pagk
vector d which is again, then fin the
- probability of both cards to be
perpindicular to vectors a betel. 4
- = _
andbbotha,&dcd_ls 5 9. frdl s @ue w ww FIWT
b :
8. ﬁmmﬁﬁﬁﬁﬁm@\\avgﬁmaﬁﬁq F) Ixzdx;ﬂwaﬁlﬁmé?mﬁ
% a
&) J' X+:dx3?rm7f?ﬁ?f5hﬁfﬁﬂl ﬁﬁﬂﬁﬂ%ﬁﬁw@wm
I | 8
@) i) wed «f w fiEe 5E A ﬁ ay o
FT0 | 4 @) FEEE HEUI =+ 2y =sinx
Lo HE E;iﬁl U 8
oo ) 3 9.  Attempt any one part of the following
s e % 91 O AR T a) Find the value of [x’dx with the
375" i T (1
T gl 1@ S € a & T help of definmte integral as the limit
5 24 EnISIG FHifFUl 4 of a sum. |
% o b) Find the  general solution
Attempt any one part of the following - of the differential  equation :
2
x“+1 d . .
a) Find the value of I—————Sx n 6dx. -&% +2y =sinx. 8 \
8
[ Tvirn over
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